Discovery 1 Practice Final Exam

Refer to the exhibit. Host A sends a message to a group of four computers out of the ten computers

Diagram depicts 10 computers connected to a switch. Question explains the arrangement.

Refer to the exhibit. A user sets up a home network and uses a

Diagram depicts a PC (H1) connected to a wireless ISR via ethernet.  There is also a server connected to a switch, which is connected to the ISR’s Internet port.
Refer to the exhibit. Host2 attempts to establish communications with Server1

Diagram depicts a switch connected to 5 hosts (via Fa0/1 through Fa0/5 respectively) and a server connected to Fa0/6.

Switch MAC table has the following information 

Fa0/1 – 260d.8c01.0000

Fa0/2 – no address

Fa0/3 - 260d.8c01.2222

Fa0/3 – no address

Fa0/4 – no address

Fa0/5 - 260d.8c01.4444

Fa0/6 - 260d.8c01.6666

Refer to the graphic. Assume that the exhibited output is from a host that is connected to a Linksys integrated router.

Graphic contains the following text from an ipconfig command.

<output omitted>

IP Address 192.168.1.10

Subnet mask 255.255.255.0

Default Gateway 192.168.1.1

Continues with output from a ping 192.168.1.1 command

Pinging 192.168.1.1 with 32 bytes of data

Request timed out

Request timed out

Request timed out

Request timed out

Ping statistics for 192.168.1.1

Packets sent=4, received =0, lost=4 (100% loss)

Refer to the exhibit. What is a possible reason that the PC is unable to ping

Diagram depicts a Router named Default Gateway with the IP address of 192.168.1.126 and subnet mask 255.255.255.224

The router is connected via a straight through cable to a switch, which is connected via a crossover cable to another switch, which is connected via crossover cable to a host with the IP address 192.168.1.100 and subnet mask 255.255.255.224

Refer to the exhibit. What is the effect of setting the security mode to

Diagram depicts a screen capture of the wireless tab in a Linksys integrated router configuration screen.  

Security Mode = WEP 
Refer to the exhibit. Which statement is true based

Diagram depicts a screen capture of the wireless tab in a Linksys integrated router configuration screen. 

Network mode = mixed

Network SSID = University

Refer to the exhibit. Host A is sending an ICMP echo request to host E.
Diagram depicts a network of 3 hosts, 2 switches and a router. Hosts A and B connect to a switch, this switch connects to a router. Another switch with a single host  (E) also connects to the router. IP and MAC addresses are as follows.

Host A: 10.0.0.1 MAC AA.AA.AA.AA.AA.AA

Host B 10.0.0.2 MAC BB.BB.BB.BB.BB.BB

Host E 172.20.1.1 MAC EE.EE.EE.EE.EE.EE

Router interface on the host A & B side 10.0.0.254 MAC CC.CC.CC.CC

Router interface on the host C side 172.30.1.254 MAC DD.DD.DD.DD.DD.DD

Refer to the graphic. What feature can be installed on the Linksys integrated router

Diagram depicts 2 hosts connected to a Linksys integrated router, 1 via Ethernet cable the other wirelessly. The router also connects to the Internet.

End of exam.

